Filomat 36:10 (2022), 3491–3504 https://doi.org/10.2298/FIL2210491B



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Division Problem of the Perturbed Form of Order One of the Chebyshev Form of Second Kind

B. Ben Hadj Ali^a, M. Mejri^a

^aInstitut Préparatoire aux études d'ingénieur El Manar, Université Tunis El Manar. Campus universitaire El Manar-B.P 244 El Manar II, Tunis 2092, Tunisia.

Abstract. We study the regularity of the form (linear functional) satisfying the functional equation $(x^2 - c^2)u = \lambda v$ where $c \in \mathbb{C}$, $\lambda \in \mathbb{C} - \{0\}$ and v is the perturbed form of order one of the Chebyshev form of second kind. The integral representation of the form u is highlighted. Moreover, some symmetric second degree forms of class two and four are given.

1. Introduction

Several authors have studied the problem of division of a regular form by a polynomial [1,3,4,8,10,11,15]: Let *v* be a regular form, find all regular forms *u* fulfilling the following algebraic equation

$$Ru = \lambda v, \ \lambda \in \mathbb{C} - \{0\},\$$

where *R* is a monic polynomial.

In particular, for R(x) = x see [4] and for $R(x) = x^2$ consult [8]. Moreover, the cases $R(x) = x^3$ and $R(x) = x^4$, have been studied in [10] and [11] respectively.

Recently, we have studied the case where $R(x) = x^2 - c^2$, $c \in \mathbb{C} - \{0\}$. Basically, we dealt with $v = \mathcal{U}$ the Chebyshev form of second kind [1]. The present work concerns the study of the case where v is the perturbed form of order one of the Chebyshev form of second kind [7,12,13] and fulfilling the following algebraic equation [1,12]

$$(x^2-a^2)v = -\frac{\omega}{4(\omega-1)}\mathcal{U}, \ \omega \in \mathbb{C} - \{0,1\}, \ a^2 = \frac{\omega^2}{4(\omega-1)}$$

Then,

$$(x^2-c^2)(x^2-a^2)u=-\frac{\omega}{4(\omega-1)}\mathcal{U},$$

which give a particular study of the division problem of a regular form by a polynomial with deg(R) = 4 and and v is the Chebyshev form of second kind.

The preliminaries results and notations are thoroughly presented in section two. In the third section, we

²⁰²⁰ Mathematics Subject Classification. Primary 33C45; Secondary 42C05

Keywords. Second degree forms, Semi-classical polynomials, Orthogonality measure.

Received: 04 August 2020; Accepted: 01 August 2022

Communicated by Dragan S. Djordjević

Email addresses: belkisbha@gmail.com (B. Ben Hadj Ali), manoubi.mejri@issatgb.rnu.tn (M. Mejri)

give explicitly the regularity conditions of the form *u* a detailed study regarding the class of is provided. Also we establish the second degree character of the form *u*. In the fourth section, we study some particular cases, which allowed us to give some examples of symmetric second degree forms of class four (which is not given in the literature as far as we know) and of class two (that are not dealt with in [14]). The last section is devoted to establish the integral representations of the forms given above.

2. Preliminaries and fundamental results

Let \mathcal{P} be the vector space of polynomials with coefficients in \mathbb{C} and let \mathcal{P}' be its dual. We denote by $\langle w, f \rangle$ the effect of $w \in \mathcal{P}'$ on $f \in \mathcal{P}$. In particular, we denote by $\langle w \rangle_n := \langle w, x^n \rangle$, $n \ge 0$, the moments of w. For any form w, any polynomial g, any $a \in \mathbb{C} - \{0\}$ any $c \in \mathbb{C}$ and $b \in \mathbb{C}$, let w', gw, $h_a w$ and $(x - c)^{-1} w$ be the forms defined by duality

 $\langle w', f \rangle := -\langle w, f' \rangle, \langle gw, f \rangle := \langle w, gf \rangle, \langle (x - c)^{-1}w, f \rangle := \langle w, \theta_c f \rangle,$ where $(\theta_c f)(x) = \frac{f(x) - f(c)}{x - c}, f \in \mathcal{P}.$ We also define the right-multiplication of a form by a polynomial with $(wf)(x) := \langle w, \frac{xf(x) - \xi f(\xi)}{x - \xi} \rangle, w \in \mathcal{P}', f \in \mathcal{P}.$ Next, the product of two forms is defined as

 $\langle uv, f \rangle := \langle u, vf \rangle, u, v \in \mathcal{P}', f \in \mathcal{P}.$

We call polynomial sequence (PS), the sequence of polynomials $\{P_n\}_{n\geq 0}$ when deg $P_n = n, n \geq 0$. Then any polynomial P_n can be supposed monic and the sequence becomes a monic polynomial sequence (MPS). Let $\{w_n\}_{n\geq 0}$ be its dual sequence defined by $\langle w_n, P_m \rangle = \delta_{n,m}, n, m \geq 0$.

The MPS $\{P_n\}_{n\geq 0}$ is orthogonal (MOPS) with respect to $w \in \mathcal{P}'$ when the following conditions hold $\langle w, P_m P_n \rangle = r_n \delta_{n,m}, n, m \ge 0, r_n \ne 0, n \ge 0$. In this case the form w is said to be regular. The form w is called normalized if $(w)_0 = 1$. In this paper, we suppose that the forms are normalized. Thus, $w = w_0$ and $\{P_n\}_{n\geq 0}$ satisfies the standard recurrence relation

$$\begin{cases} P_0(x) = 1 , P_1(x) = x - \beta_0^P, \\ P_{n+2}(x) = (x - \beta_{n+1}^P) P_{n+1}(x) - \gamma_{n+1}^P P_n(x), n \ge 0; \gamma_{n+1}^P \ne 0, n \ge 0. \end{cases}$$
(1)

The regular form w_0 is said to be symmetric when $(w_0)_{2n+1} = 0$, $n \ge 0$, or equivalently $\beta_n^p = 0$, $n \ge 0$, in (1) [5].

Let us recall some results:

Lemma 2.1. [5] Let $w \in \mathcal{P}'$, $f, g \in \mathcal{P}$ and $a, b \in \mathbb{C}$. The following formulas hold:

$$(fw)' = fw' + f'w,$$
(2)

$$(x-a)^{-1}((x-a)w) = w - (w)_0 \delta_a,$$
(3)

$$(x-a)^{-1}\delta_b = \frac{1}{b-a} (\delta_b - \delta_a), \ a \neq b \quad ; \quad (x-a)^{-1}\delta_a = -\delta'_a, \tag{4}$$

$$(\theta_a \theta_b f)(x) = (\theta_b \theta_a f)(x) = \frac{1}{a-b} \Big(\theta_a f - \theta_b f \big)(x), \ a \neq b,$$
(5)

where $\langle \delta_a, f \rangle := f(a), f \in \mathcal{P}$.

Definition 2.2. A MOPS $\{P_n\}_{n\geq 0}$ with respect to *w* is called semi-classical sequence if *w* fulfils an equation

$$(\phi w)' + \psi w = 0, \tag{6}$$

where ϕ monic and deg $\psi \geq 1$. In this case, the form w is called semi-classical.

Let us introduce the integer $s(\phi, \psi) = \max(\deg \phi - 2, \deg \psi - 1)$. Then $s = \min s(\phi, \psi)$ where the minimum is taken over all the pairs (ϕ , ψ) occurring in (6) is called the class of w. By extension, the integer s is also the class of $\{P_n\}_{n\geq 0}$ [5].

We have the following result:

Proposition 2.3. [5] *The form w satisfying* (6) *is of class s* = $s(\phi, \psi)$ *if and only if* $\prod_{c \in Z(\phi)} \left(|\psi(c) + \phi'(c)| + |\langle w, \theta_c \psi + \theta_c^2 \phi \rangle | \right) \neq 0,$ where $Z(\phi) = \{c, \phi(c) = 0\}.$ In the case when there exists $c \in \mathbb{C}$ such that $\phi(c) = 0$ and $|\psi(c) + \phi'(c)| + |\langle w, \theta_c \psi + \theta_c^2 \phi \rangle| = 0$, we have

$$(\theta_c \phi w)' + \left(\theta_c \psi + \theta_c^2 \phi\right) w = 0.$$

Let $\{P_n\}_{n\geq 0}$ be a MOPS with respect to w and $\{P_n^{(1)}\}_{n\geq 0}$ be the first associated polynomial sequence where $P_n^{(1)}(x) = \langle w, \frac{P_{n+1}(x)-P_{n+1}(\xi)}{x-\xi} \rangle, n \geq 0$. The sequence $\{P_n^{(1)}\}_{n\geq 0}$ is orthogonal with respect to $w^{(1)}$ and satisfies (1) with $\beta_n^{(1)} = \beta_{n+1}^p, \gamma_{n+1}^{(1)} = \gamma_{n+2}^p, n \geq 0$. The monic second kind Chebyshev polynomials are defined by [2,6,7]

$$\begin{cases} U_0(x) = 1 , & U_1(x) = x, \\ U_{n+2}(x) = x U_{n+1}(x) - \frac{1}{4} U_n(x), & n \ge 0. \end{cases}$$
(7)

We denote by v the perturbed Chebyshev form of order one of the Chebyshev form of second kind and $\{S_n\}_{n\geq 0}$ its MOPS, we have [12]

$$\begin{cases} S_0(x) = 1, \quad S_1(x) = x, \\ S_{n+2}(x) = xS_{n+1}(x) - \sigma_{n+1}S_n(x), \quad n \ge 0, \end{cases}$$
(8)

with

$$\sigma_1 = \frac{1}{4}\omega, \ \sigma_{n+1} = \frac{1}{4}, \ n \ge 1, \ \omega \in \mathbb{C} - \{0, 1, 2\},$$
(9)

$$(\phi v)' + \psi v = 0, \tag{10}$$

$$\phi(x) = (x^2 - 1)(x^2 - a^2), \ \psi(x) = -3x(x^2 - a^2), \ a^2 = \frac{\omega^2}{4(\omega - 1)}.$$
(11)

We know that [1]

$$S_{n+2}(x) = U_{n+2}(x) - \frac{\omega - 1}{4} U_n(x), \ n \ge 0.$$
(12)

Now, let us consider the following problem: find all regular symmetric forms *u* satisfying

$$(x^2 - c^2)u = \lambda v, \quad \lambda \in \mathbb{C} - \{0\}, \quad c \in \mathbb{C} - \{0\},$$
 (13)

with the constraint $(u)_0 = 1$.

When *u* is regular, let $\{Z_n\}_{n\geq 0}$ be its corresponding MOPS fulfilling

$$\begin{cases} Z_0(x) = 1, & Z_1(x) = x, \\ Z_{n+2}(x) = xZ_{n+1}(x) - \gamma_{n+1}Z_n(x), & n \ge 0. \end{cases}$$
(14)

From (13), the existence of the sequence $\{Z_n\}_{n\geq 0}$ is among all the strictly quasi-orthogonal sequences of order two with respect to λv that is [1,9]

$$Z_{n+2}(x) = S_{n+2}(x) + a_n S_n(x), \ n \ge 0,$$
(15)

with $a_n \neq 0$, $n \ge 0$.

Remark 2.4. Let $\{S_n(., \mu)\}_{n\geq 0}$, be the co-recursive polynomials for the sequence $\{S_n\}_{n\geq 0}$. One may write [2,5]

$$S_n(x,\mu) = S_n(x) - \mu S_{n-1}^{(1)}(x), \ n \ge 0,$$
(16)

where $S_{-1}^{(1)} = 0$.

Let us recall the following results:

Proposition 2.5. [1] *The form u is regular, if and only if,* $S_n(c, -\frac{\lambda}{c}) \neq 0$, $n \ge 0$. *Moreover,*

$$a_n = -\frac{S_{n+2}(c, -\frac{\lambda}{c})}{S_n(c, -\frac{\lambda}{c})}, \ n \ge 0,$$
(17)

$$\gamma_1 = cS_1(c, -\frac{\lambda}{c}),\tag{18}$$

$$\gamma_2 = -\lambda \frac{S_2(c, -\frac{\lambda}{c})}{\lambda + c^2},\tag{19}$$

$$\gamma_{n+3} = \frac{a_{n+1}}{a_n} \sigma_{n+1}, \ n \ge 0.$$
(20)

Proposition 2.6. The form u given by (13) is regular if and only if

$$\Delta_n \neq 0, n \geq 0,$$

with

$$\Delta_n = \frac{c^2 + \lambda}{c} U_n(c) - \frac{\omega}{4} U_{n-1}(c) \neq 0, \ n \ge 0, \ U_{-1} = 0.$$
(21)

In this case, we have

$$a_0 = -\left(c^2 + \lambda - \frac{\omega}{4}\right),\tag{22}$$

$$a_{n+1} = -\frac{\Delta_{n+2}}{\Delta_n}, \ n \ge 0, \tag{23}$$

$$\gamma_1 = c^2 + \lambda, \tag{24}$$

$$\gamma_2 = -\frac{\lambda}{4} \frac{4c^2 + 4\lambda - \omega}{\lambda + c^2},\tag{25}$$

$$\gamma_3 = \frac{\omega}{4} \frac{a_1}{a_0},\tag{26}$$

$$\gamma_{n+4} = \frac{1}{4} \frac{a_{n+2}}{a_{n+1}}, \ n \ge 0.$$
⁽²⁷⁾

Proof. We have

$$S_n(c,-\frac{\lambda}{c}) = S_n(c) + \frac{\lambda}{c} S_{n-1}^{(1)}(c), \ n \ge 0.$$

On account of (7), (8) and (9), we get $S_n^{(1)} = U_n$, $n \ge 0$, then last relation becomes

$$S_n(c, -\frac{\lambda}{c}) = S_n(c) + \frac{\lambda}{c} U_{n-1}(c), \ n \ge 0.$$
⁽²⁸⁾

Also, by (7), (8) and (9), we have

$$S_0(c, -\frac{\lambda}{c}) = 1, \ S_1(c, -\frac{\lambda}{c}) = \frac{c^2 + \lambda}{c}.$$
(29)

We may write

$$S_{n+2}(c, -\frac{\lambda}{c}) = S_{n+2}(c) + \frac{\lambda}{c}U_{n+1}(c), \ n \ge 0,$$

using the formula (12), we obtain

$$S_{n+2}(c,-\frac{\lambda}{c})=\frac{c^2+\lambda}{c}U_{n+1}(c)-\frac{\omega}{4}U_n(c),\ n\geq 0.$$

Based on (29), we can deduce that

$$S_{n+1}(c, -\frac{\lambda}{c}) = \frac{c^2 + \lambda}{c} U_n(c) - \frac{\omega}{4} U_{n-1}(c) = \Delta_n, \ n \ge 0.$$

$$(30)$$

Taking into account relation (30) and Proposition 2.5, we can deduce that the form u is regular

$$\Delta_n \neq 0, n \geq 0.$$

Furthermore, the relations (22)-(27) are an immediate consequence from (29)-(30) and Proposition 2.5.

3. The class of the form *u* and its second degree character

3.1. The class of the form u

From the relations (10)-(13), we get

$$(\tilde{\phi}u)' + \tilde{\psi}u = 0, \tag{31}$$

with

$$\tilde{\phi}(x) = (x^2 - c^2)(x^2 - a^2)(x^2 - 1) \quad , \quad \tilde{\psi}(x) = -3x(x^2 - c^2)(x^2 - a^2). \tag{32}$$

We see that the class of the form u is at most s = 4. Let us recall the following result:

Proposition 3.1. [1] *The class of the form u depends only on the zeros* εc *, where* $\varepsilon = \pm 1$ *.*

Proposition 3.2. When u is a regular form, let

$$\vartheta_1 = 2a^2(a^2 - 1) + \lambda(2a^2 - 1 - \frac{\omega}{2}),$$
(33)

$$\vartheta_2 = 2(1-a^2) + \lambda(2a^2 - 1 - \frac{\omega}{2}).$$
 (34)

We have

(a) The form u is a semi-classical of class s = 4 when $c^2 \neq a^2$, $c^2 \neq 1$ or $c^2 = a^2$, $\vartheta_1 \neq 0$ or $c^2 = 1$, $\vartheta_2 \neq 0$ and u satisfies (31)-(32).

(b) When $c^2 = a^2$, $\vartheta_1 = 0$, the class of the form u is s = 2, and we have

$$(\tilde{\phi}_1 u)' + \tilde{\psi}_1 u = 0, \tag{35}$$

$$\tilde{\phi}_1(x) = (x^2 - a^2)(x^2 - 1), \quad \tilde{\psi}_1(x) = -x^3 + (3a^2 - 2)x.$$
 (36)

(c) If $c^2 = 1$, $\vartheta_2 = 0$, the class of the form u is s = 2, and we have

$$(\tilde{\phi}_2 u)' + \tilde{\psi}_2 u = 0, \tag{37}$$

$$\tilde{\phi}_2(x) = (x^2 - a^2)(x^2 - 1), \quad \tilde{\psi}_2(x) = -2x(x^2 - a^2)$$
(38)

Proof. The following formula is needed [5]

$$(\theta_a(fg))(x) = f(x)(\theta_a g)(x) + g(a)(\theta_a f)(x), a \in \mathbb{C}, f, g \in \mathcal{P}.$$
(39)

From (32), we get

$$\tilde{\psi}(\epsilon c) + \tilde{\phi}'(\epsilon c) = 2\epsilon c(c^2 - a^2)(c^2 - 1).$$
(40)

Also, we have

$$(\theta_{\varepsilon c}\tilde{\psi})(x) = (\theta_{\varepsilon c}((x^2 - c^2)\psi))(x),$$

using the formula (39), it follows that

$$(\theta_{\varepsilon c}\tilde{\psi})(x) = (x^2 - c^2)(\theta_{\varepsilon c}\psi)(x) + (x + \varepsilon c)\psi(\varepsilon c).$$
(41)

Similarly, we get

$$(\theta_{\varepsilon c}^2 \tilde{\phi})(x) = (x^2 - c^2)(\theta_{\varepsilon c}^2 \phi)(x) + (x + \varepsilon c)\phi'(\varepsilon c) + \phi(\varepsilon c).$$
(42)

Based on (41) and (42), we can deduce that

$$(\theta_{\varepsilon c}\tilde{\psi})(x) + (\theta_{\varepsilon c}^{2}\tilde{\phi})(x) = (x^{2} - c^{2})(\theta_{\varepsilon c}\psi) + \theta_{\varepsilon c}^{2}\phi)(x) + (x + \varepsilon c)(\psi(\varepsilon c) + \phi'(\varepsilon c)) + \phi(\varepsilon c),$$

but from (11), we obtain successively

$$(\theta_{\varepsilon c}\psi) + \theta_{\varepsilon c}^{2}\phi)(x) = -2x^{2} - \varepsilon cx + 2a^{2} - 1$$

and

$$\psi(\varepsilon c) + \phi'(\varepsilon c) = 2\varepsilon c (2c^2 - a^2 - 1).$$

Which implies that

$$(\theta_{\varepsilon c}\tilde{\psi})(x) + (\theta_{\varepsilon c}^{2}\tilde{\phi})(x) = (x^{2} - c^{2})(-2x^{2} - \varepsilon cx + 2a^{2} - 1) + 2\varepsilon c(2c^{2} - a^{2} - 1)(x + \varepsilon c) + (c^{2} - a^{2})(c^{2} - 1).$$
(43)

Then,

$$\langle u, \theta_{\varepsilon c} \tilde{\psi} + \theta_{\varepsilon c}^2 \tilde{\phi} \rangle = \langle u, (x^2 - c^2) \left(-2x^2 - \varepsilon cx + 2a^2 - 1) \right) \rangle$$

+ $\langle u, 2\varepsilon c (2c^2 - a^2 - 1) (x + \varepsilon c) + (c^2 - a^2) (c^2 - 1) \rangle$

Equivalently,

$$\begin{aligned} \langle u, \theta_{\varepsilon c} \bar{\psi} + \theta_{\varepsilon c}^2 \bar{\phi} \rangle &= \langle (x^2 - c^2)u, -2x^2 - \varepsilon cx + 2a^2 - 1 \rangle \\ &+ \langle u, 2\varepsilon c(2c^2 - a^2 - 1)(x + \varepsilon c) + (c^2 - a^2)(c^2 - 1) \rangle, \end{aligned}$$

by (13) and the fact that u is a symmetric form, the last relation can be written as

$$\langle u, \theta_{\varepsilon c} \tilde{\psi} + \theta_{\varepsilon c}^2 \tilde{\phi} \rangle = \lambda \langle v, -2x^2 - \varepsilon cx + 2a^2 - 1 \rangle$$
$$+ 2c^2 (2c^2 - a^2 - 1) + (c^2 - a^2)(c^2 - 1).$$

But $\langle v, -2x^2 - \varepsilon cx + 2a^2 - 1 \rangle = 2a^2 - 1 - \frac{\omega}{2}$, then

$$\langle u, \theta_{\varepsilon c} \tilde{\psi} + \theta_{\varepsilon c}^2 \tilde{\phi} \rangle = \lambda \Big(2a^2 - 1 - \frac{\omega}{2} \Big) + 2c^2 (2c^2 - a^2 - 1) + (c^2 - a^2)(c^2 - 1).$$
(44)

(a) If $c^2 = a^2$, relation (44) becomes

$$\langle u, \theta_{\varepsilon a} \tilde{\psi} + \theta_{\varepsilon a}^2 \tilde{\phi} \rangle = \lambda \left(2a^2 - 1 - \frac{\omega}{2} \right) + 2a^2(a^2 - 1) = \vartheta_1.$$
(45)

When $c^2 = 1$, by (44), we get

$$\langle u, \theta_{\varepsilon} \tilde{\psi} + \theta_{\varepsilon}^{2} \tilde{\phi} \rangle = \lambda \left(2a^{2} - 1 - \frac{\omega}{2} \right) + 2(1 - a^{2}) = \vartheta_{2}.$$

$$\tag{46}$$

In the case where $c^2 \neq a^2$, $c^2 \neq 1$, based on (40), (45), (46) and Proposition 2.3, we can not simplify the equation (31). According to Proposition 3.1, we can deduce the desired results. (b) In this case, from (40) and (45), we can simplify equation (31) by the factor $x^2 - a^2$, and we obtain (35) with

$$\tilde{\phi}_1 = \theta_a \theta_{-a} \tilde{\phi}, \ \tilde{\psi}_1 = \theta_a \theta_{-a} \tilde{\psi} + (\theta_a \theta_{-a}^2 + \theta_a^2 \theta_{-a}) \tilde{\phi}.$$

Since $\tilde{\phi}(x) = (x^2 - a^2)^2(x^2 - 1)$, $\tilde{\psi}(x) = -3x(x^2 - a^2)^2$, we obtain (36). Moreover, by (36), we have $\tilde{\phi}'_1(\varepsilon a) + \tilde{\psi}(\varepsilon a) = 4\varepsilon a(a^2 - 1) \neq 0$, then we cannot simplify equation (35) and the class of the form u is s = 2.

(c) When $c^2 = 1$, $\vartheta_2 = 0$, by (40) and (46), equation (35) can be is simplified by the factor $x^2 - 1$ and we obtain (37) with

$$\tilde{\phi}_2 = \theta_1 \theta_{-1} \tilde{\phi}, \ \tilde{\psi}_2 = \theta_1 \theta_{-1} \tilde{\psi} + (\theta_1 \theta_{-1}^2 + \theta_1^2 \theta_{-1}) \tilde{\phi}.$$

Since $\tilde{\phi}(x) = (x^2 - 1)^2(x^2 - a^2)$, $\tilde{\psi}(x) = -3x(x^2 - 1)(x^2 - a^2)$, we obtain (38). Furthermore, by (38), we have $\tilde{\phi}'_2(\varepsilon) + \tilde{\psi}_2(\varepsilon) = -2\varepsilon(1 - a^2) \neq 0$, then we cannot simplify the equation (37) and the class of the form u is s = 2.

3.2. The second degree character of the form u

Let us introduce the formal Stieltjes function S(.; w) of the form w:

$$S(z,w) = -\sum_{n\geq 0} \frac{(w)_n}{z^{n+1}}.$$
(47)

Definition 3.3. A regular form w is said to be a second degree form if there exist two polynomials B(z, w) (monic) and C(z, w) such that

$$B(z,w)S^{2}(z,w) + C(z,w)S(z,w) + D(z,w) = 0,$$
(48)

where

$$D(z,w) = (w\theta_0 C(.,w))(z) - (w^2 \theta_0^2 B(.,w))(z).$$
(49)

The regularity of w means that $B(., w) \neq 0$, $C^{2}((., w) - 4B(., w)D(., w) \neq 0$ and $D(., w) \neq 0$ [6].

A second-degree form w whose corresponding formal Stieltjes function S(z, w) satisfies (48) is necessarily semi-classical and fulfils [6]

$$(\phi(x,w)w)' + \psi(x,w)w = 0, \tag{50}$$

with

$$\alpha\phi(x,w) = B(x,w)(C^{2}(x,w) - 4B(x,w)D(x,w)),$$

$$\alpha\psi(x,w) = -\frac{3}{2}B(x,w)(C^{2}(x,w) - 4B(x,w)D(x,w))',$$
(51)

where α represents a normalization constant.

Remark 3.4. *Keeping the same notation in* [12]*, we have* $v = \hat{u}(a, -\frac{\omega}{4(\omega-1)})$ *, then we have the following results:*

Proposition 3.5. [12] On has

$$B(z,v)S^{2}(z,v) + C(z,v)S(z,v) + D(z,v) = 0,$$
(52)

with

$$B(z,v) = (z^2 - a^2), \ C(z,v) = \frac{\omega - 2}{\omega - 1}z, \ D(z,v) = -\frac{1}{\omega - 1},$$
(53)

B. Ben Hadj Ali, M. Mejri / Filomat 36:10 (2022), 3491–3504 3498

$$S(z,v) = \frac{1}{z^2 - a^2} \left\{ \frac{\omega}{2(\omega - 1)} \frac{1}{z + \sqrt{z^2 - 1}} - z \right\}, \ z \in \mathbb{C} - \{-a, +a\},$$
(54)

where the principal square root of a complex number z is $\sqrt{z} = \sqrt{|z|} \exp(i\frac{\arg(z)}{2}), -\pi < \arg(z) \le \pi$.

Proposition 3.6. When the form u is regular it is a second degree form and we have

$$B(z, u)S^{2}(z, u) + C(z, u)S(z, u) + D(z, u) = 0,$$
(55)

with

$$\begin{cases} B(z,u) = (z^2 - c^2)^2 (z^2 - a^2), \\ C(z,u) = (z^2 - c^2) (2z(z^2 - a^2) + \lambda \frac{\omega - 2}{\omega - 1}z), \\ D(z,u) = z^2 (z^2 - a^2) + \lambda \frac{\omega - 2}{\omega - 1} z^2 - \frac{\lambda^2}{\omega - 1}, \end{cases}$$
(56)

$$S(z,u) = \frac{\lambda}{(z^2 - c^2)^2 (z^2 - a^2)} \Big(\frac{\omega}{2(\omega - 1)} \frac{1}{z + \sqrt{z^2 - 1}} - z \Big) - \frac{z}{z^2 - c^2}.$$
(57)

Proof. We know that the Stieltjes function S(z, u) of the form u defined by (13) is given by [1]

$$S(z, u) = \frac{1}{z^2 - c^2} (\lambda S(z, v) - z).$$
(58)

Equivalently,

$$S(z,v) = \frac{1}{\lambda}(z^2 - c^2)S(z,u) + \frac{1}{\lambda}z.$$

Using the equation (52), we can deduce that

$$B(z, u)S^{2}(z, u) + C(z, u)S(z, u) + D(z, u) = 0,$$
(59)

with

$$\begin{cases} B(z, u) = (z^2 - c^2)^2 B(z, v), \\ C(z, u) = (z^2 - c^2) (2zB(z, v) + \lambda C(z, v)), \\ D(z, u) = z^2 B(z, v) + \lambda z C(z, v) + \lambda^2 D(z, v). \end{cases}$$

$$(60)$$

Taking into account (53), we obtain (56).

The result in (57) is a consequence of equations (58) and (54). \Box

4. Some particular cases

Remark 4.1. In this section, we denote $a(\omega) := a$, $u(a(\omega), c, \lambda) := u$, $\Delta_n(a(\omega), c, \lambda) = \Delta_n$, $a_n(a(\omega), c, \lambda) := a_n$, $\gamma_{n+1}(a(\omega), c, \lambda) = \gamma_{n+1}$, $n \ge 0$.

4.1. The case where $c = \frac{1}{2}$

Proposition 4.2. The form $u(a(\omega), \frac{1}{2}, \lambda)$, is regular if and only if, $4\lambda + 1 \neq 0$, $4\lambda - \omega + 1 \neq 0$. In this case, we have

$$\Delta_{3n}(a(\omega), \frac{1}{2}, \lambda) = \frac{(-1)^n}{2^{3n+1}} (4\lambda + 1), \ \Delta_{3n+1}(a(\omega), \frac{1}{2}, \lambda) = \frac{(-1)^n}{2^{3n+2}} (4\lambda - \omega + 1),$$

$$\Delta_{3n+2}(a(\omega), \frac{1}{2}, \lambda) = -\omega \frac{(-1)^n}{2^{3n+3}}, \ n \ge 0.$$
(61)

$$a_0(a(\omega), \frac{1}{2}, \lambda) = -\left(\lambda + \frac{1-\omega}{4}\right), \ a_{3n+1}(a(\omega), \frac{1}{2}, \lambda) = \frac{\omega}{4(4\lambda + 1)},$$

B. Ben Hadj Ali, M. Mejri / Filomat 36:10 (2022), 3491–3504

$$a_{3n+2}(a(\omega), \frac{1}{2}, \lambda) = \frac{4\lambda + 1}{4(4\lambda - \omega + 1)},$$

$$a_{3n+3}(a(\omega), \frac{1}{2}, \lambda) = -\frac{4\lambda - \omega + 1}{4\omega}, n \ge 0.$$

$$\gamma_1(a(\omega), \frac{1}{2}, \lambda) = \frac{4\lambda + 1}{4}, \gamma_2(a(\omega), \frac{1}{2}, \lambda) = -\lambda \frac{4\lambda - \omega + 1}{4\lambda + 1},$$

$$\gamma_3(a(\omega), \frac{1}{2}, \lambda) = -\frac{\omega^2}{4} \frac{1}{(4\lambda + 1)(4\lambda - \omega + 1)},$$

$$\gamma_{3n+4}(a(\omega), \frac{1}{2}, \lambda) = \frac{1}{4\omega} \frac{(4\lambda + 1)^2}{4\lambda - \omega + 1}, n \ge 0,$$

$$\gamma_{3n+5}(a(\omega), \frac{1}{2}, \lambda) = -\frac{(4\lambda - \omega + 1)^2}{4\omega(4\lambda + 1)}, n \ge 0,$$

$$\gamma_{3n+6}(a(\omega), \frac{1}{2}, \lambda) = -\frac{\omega^2}{4} \frac{1}{(4\lambda + 1)(4\lambda - \omega + 1)}, n \ge 0.$$
(62)
(62)
(62)

Proof. By virtue of [13], we have $U_{3n}(\frac{1}{2}) = \frac{(-1)^n}{2^{3n}}$, $U_{3n+1}(\frac{1}{2}) = \frac{(-1)^n}{2^{3n+1}}$, $U_{3n+2}(\frac{1}{2}) = 0$, $n \ge 0$. This implies (61). On one hand, based on (4.1) and Proposition 2.6, we can deduce that the form $u(a(\omega), \frac{1}{2}, \lambda)$ is regular if and only if $4\lambda + 1 \ne 0$, $4\lambda - \omega + 1 \ne 0$.

On the other hand the relations (62)-(63) are a consequence from the relation (61) and Proposition 2.6. \Box

Proposition 4.3. When $u(a(\omega), \frac{1}{2}, \lambda)$ is regular, one has (a) $u(a(\omega), \frac{1}{2}, \lambda)$ it is a semi-classical of class s = 4, when $\omega \neq \frac{1-i\sqrt{3}}{2}$, $\omega \neq \frac{1+i\sqrt{3}}{2}$ and we have

$$\left(\tilde{\phi}(a(\omega), \frac{1}{2}, \lambda)u(a, \frac{1}{2}, \lambda)\right)' + \tilde{\psi}(a(\omega), \frac{1}{2}, \lambda)u(a(\omega), \frac{1}{2}, \lambda) = 0,$$
(64)

with

$$\tilde{\phi}(a(\omega), \frac{1}{2}, \lambda)(x) = (x^2 - \frac{1}{4})(x^2 - a(\omega)^2)(x^2 - 1),$$

$$\tilde{\psi}(a(\omega), \frac{1}{2}, \lambda)(x) = -3x(x^2 - \frac{1}{4})(x^2 - a(\omega)^2).$$
(65)

(b) When $\omega = \omega_k$, k = 1, 2, with $\omega_1 = \frac{1-i\sqrt{3}}{2}$ and $\omega_2 = \frac{1+i\sqrt{3}}{2}$, the form $u(a(\omega_k), \frac{1}{2}, \lambda)$ is of class two and satisfy the following equation

$$\left(\tilde{\phi}(a(\omega_k), \frac{1}{2}, \lambda)u(a(\omega_k), \frac{1}{2}, \lambda)\right)' + \tilde{\psi}(a(\omega), \frac{1}{2}, \lambda)u(a(\omega_k), \frac{1}{2}, \lambda) = 0,$$
(66)

with

$$\tilde{\phi}(a(\omega_k), \frac{1}{2}, \lambda)(x) = (x^2 - \frac{1}{4})(x^2 - 1),$$

$$\tilde{\psi}(a(\omega_k), \frac{1}{2}, \lambda)(x) = -3x^2 - \frac{5}{4}x.$$
(67)

Proof. (a) We have $a^2(\omega) = \frac{1}{4}$ if and only if $\omega = \omega_k$, k = 1, 2.

From the affirmation (a) in Proposition 3.2, the form $u(a(\omega), \frac{1}{2}, \lambda)$ is of class s = 4 and satisfies (61)-(62) since $c = \frac{1}{2} \neq a^2$, $c = \frac{1}{2} \neq 1$.

(b) When $\omega = \omega_k$, k = 1, 2, by virtue of the statement (b) in Proposition 3.2, the form $u(a(\omega_k), \frac{1}{2}, \lambda)$ is of class two and fulfilled (66) with (67) since $a(\omega_k)^2 = \frac{1}{4}$.

4.2. The case where c = 1

Proposition 4.4. The form $u(a(\omega), 1, \lambda)$ is regular if and only if $(2(\lambda + 1) - \omega)n + 2(\lambda + 1) \neq 0, n \ge 0$. In this case, one has

$$\Delta_{n}(a(\omega), 1, \lambda) = \frac{\left(2(\lambda+1)-\omega\right)n+2(\lambda+1)}{2^{n+1}}, \quad n \ge 0.$$

$$a_{0}(a(\omega), 1, \lambda) = \frac{4(\lambda+1)-\omega}{4},$$

$$a_{n+1}(a(\omega), 1, \lambda) = -\frac{1}{4} \frac{\left(2(\lambda+1)-\omega\right)(n+2)+2(\lambda+1)}{\left(2(\lambda+1)-\omega\right)n+2(\lambda+1)}, \quad n \ge 0.$$

$$\gamma_{1}(a(\omega), 1, \lambda) = \lambda + 1, \quad \gamma_{2}(a(\omega), 1, \lambda) = -\frac{\lambda}{4} \frac{4(\lambda+1)-\omega}{\lambda+1},$$

$$\gamma_{3}(a(\omega), 1, \lambda) = -\frac{\omega}{4} \frac{5(\lambda+1)-3\omega}{\left(4(\lambda+1)-\omega\right)^{2}},$$

$$\gamma_{n+4}(a(\omega), 1, \lambda) = \frac{1}{4} \frac{\left(2(\lambda+1)-\omega\right)(n+3)+2(\lambda+1)}{\left(2(\lambda+1)-\omega\right)(n+2)+2(\lambda+1)} \times$$

$$\frac{\left(2(\lambda+1)-\omega\right)n+2(\lambda+1)}{\left(2(\lambda+1)-\omega\right)(n+1)+2(\lambda+1)}, \quad n \ge 0.$$
(68)
(69)
(70)

Proof. We know that [2]

$$U_n(x) = \frac{1}{2^n} \frac{\sin((n+1)\theta)}{\sin(\theta)}, \ n \ge 0, \ x = \cos(\theta).$$

$$(71)$$

It follows that , $U_n(1) = \frac{n+1}{2^n}$, $n \ge 0$. From the previous relation, we obtain (68). By Proposition 2.6 and (68), we see that $u(a(\omega), 1, \lambda)$ is regular when $(2(\lambda + 1) - \omega)n + 2(\lambda + 1) \ne 0$, $n \ge 0$. The relations (69)-(70) can be deduced from (68) and Proposition 2.6.

Proposition 4.5. If the form $u(a(\omega), 1, \lambda)$ is regular, we have (a) The class of $u(a(\omega), 1, \lambda)$ is s = 4 if $\vartheta_2 \neq 0$ and satisfies the following functional equation

$$\left(\tilde{\phi}(a(\omega), 1, \lambda)u(a, 1, \lambda)\right)' + \tilde{\psi}(a(\omega), 1, \lambda)u(a(\omega), 1, \lambda) = 0,$$
(72)

with

$$\tilde{\phi}(a(\omega), 1, \lambda)(x) = (x^2 - a^2(\omega))(x^2 - 1)^2,$$

$$\tilde{\psi}(a(\omega), 1, \lambda)(x) = -3x(x^2 - 1)(x^2 - a^2(\omega)).$$
(73)

(b) The class of $u(a(\omega), 1, \lambda)$ is s = 2 if $\vartheta_2 = 0$ and the following functional equation holds

$$\left(\tilde{\phi}_1(a(\omega), 1, \lambda)u(a, 1, \lambda)\right)' + \tilde{\psi}_1(a(\omega), 1, \lambda)u(a(\omega), 1, \lambda) = 0,$$
(74)

where

$$\tilde{\phi}_1(a(\omega), 1, \lambda)(x) = (x^2 - a^2(\omega))(x^2 - 1),$$

$$\tilde{\psi}_1(a(\omega), 1, \lambda)(x) = -3x^3 + (3 - 2a^2(\omega))x.$$
(75)

Proof. (a) Taking into account the statement (a) in the Proposition 3.2, we get the desired results. (b) From the the statement (b) in the Proposition 3.2, we can deduce that the functional equation (72) can be simplified by the factor $x^2 - 1$, and we obtain (74) with (75).

Remark 4.6. The cases (b) in Proposition 4.3 and the Proposition 4.5 are not studied in [14].

5. Integral representation of the form *u*

In order to determine the integral representation of the form *u*, we need the following results:

Proposition 5.1. [12] The form v possess the following integral representation

$$\langle v, f \rangle = b(f(-a) + f(a)) + \rho \int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{x^2 - a^2} f(x) dx, \ f \in \mathcal{P}, \ a \in \mathbb{C} -] - 1, +1[,$$
(76)

with

$$b = \frac{1}{2} + \frac{\omega}{4(1-\omega)} \left(1 - \sqrt{(1-\frac{2}{\omega})^2}\right), \ \rho = \frac{\omega}{2\pi(1-\omega)}.$$
 (77)

Lemma 5.2. *let a*, $c \in \mathbb{C}$. *The following formulas hold*

$$(x+c)^{-1}(x-c)^{-1}(\delta_{-a}+\delta_{a}) = \frac{1}{a^{2}-c^{2}}(\delta_{-a}+\delta_{a}-\delta_{-c}-\delta_{c}), \ a^{2} \neq c^{2},$$
(78)

$$(x+a)^{-1}(x-a)^{-1}\left(\delta_{-a}+\delta_{a}\right) = \frac{1}{2a}\left(\delta_{-a}'-\delta_{a}'\right).$$
(79)

Proof. We need the following formula easy to prove from the definition:

$$(x-b)^{-1}\delta'_{a} = \frac{1}{a-b}\delta'_{a} + \frac{1}{(a-b)^{2}}(\delta_{a} - \delta_{b}), \ a \neq b.$$
(80)

Let $\varepsilon = \pm 1$, by (4), we get $(x - c)^{-1}\delta_{\varepsilon a} = \frac{1}{\varepsilon a - c} (\delta_{\varepsilon a} - \delta_c)$. Therefore

$$(x+c)^{-1}(x-c)^{-1}\delta_{\varepsilon a} = \frac{1}{\varepsilon a-c} \Big((x+c)^{-1}\delta_{\varepsilon a} - (x+c)^{-1}\delta_c \Big),$$

and by the formula (4), it follows that

$$(x+c)^{-1}(x-c)^{-1}\delta_{\varepsilon a} = \frac{1}{\varepsilon a-c} \Big(\frac{1}{\varepsilon a+c} \Big(\delta_{\varepsilon a} - \delta_{-c} \Big) - \frac{1}{2c} \Big(\delta_c - \delta_{-c} \Big) \Big).$$

Thus,

$$(x+c)^{-1}(x-c)^{-1}\delta_{\varepsilon a} = \frac{1}{a^2-c^2}\delta_{\varepsilon a} + \frac{1}{2c(\varepsilon a+c)}\delta_{-c} - \frac{1}{2c(\varepsilon a-c)}\delta_{c}.$$

Based on last relation, we can deduce (78). From (4), we have $(x - a)^{-1}\delta_a = -\delta'_a$. Then

$$(x+a)^{-1}(x-a)^{-1}\delta_a = -(x+a)^{-1}\delta'_a,$$

using the formula (80), it follows that

$$(x+a)^{-1}(x-a)^{-1}\delta_a = -\frac{1}{2a}\delta'_a - \frac{1}{4a^2}(\delta_a - \delta_{-a}).$$
(81)

By virtue of (81), we get

$$(x+a)^{-1}(x-a)^{-1}\delta_{-a} = \frac{1}{2a}\delta_{-a}' - \frac{1}{4a^2}(\delta_{-a} - \delta_a).$$
(82)

The relation (79) can be deduced by addition both sides of the relations (81) and (82). \Box

Lemma 5.3. Let *w* be the form defined by

$$\langle w, f \rangle = \int_{-1}^{+1} \frac{\sqrt{1-x^2}}{x^2 - a^2} f(x) dx, \ f \in \mathcal{P}, \ a \in \mathbb{C} -] - 1, +1[.$$
(83)

We have

$$\langle (x+c)^{-1}(x-c)^{-1}w, f \rangle = \int_{-1}^{+1} \frac{\sqrt{1-x^2}}{(x^2-a^2)(x^2-c^2)} f(x)dx \\ -\frac{1}{2c} \Big(\int_{-1}^{+1} \frac{\sqrt{1-x^2}}{(x^2-a^2)(x-c)} dx \Big) f(c) \\ +\frac{1}{2c} \Big(\int_{-1}^{+1} \frac{\sqrt{1-x^2}}{(x^2-a^2)(x+c)} dx \Big) f(-c), \ f \in \mathcal{P}, c \in \mathbb{C}-] - 1, +1[, \qquad (84)$$
$$\langle (x+c)^{-1}(x-c)^{-1}w, f \rangle = P \int_{-1}^{+1} \frac{\sqrt{1-x^2}}{(x^2-a^2)(x^2-c^2)} f(x)dx \\ -\frac{1}{2c} \Big(P \int_{-1}^{+1} \frac{\sqrt{1-x^2}}{(x^2-a^2)(x-c)} dx \Big) f(c) \\ +\frac{1}{2c} \Big(P \int_{-1}^{+1} \frac{\sqrt{1-x^2}}{(x^2-a^2)(x+c)} dx \Big) f(-c), \ f \in \mathcal{P}, c \in] - 1, +1[, \qquad (85)$$
$$\frac{V(x)}{2} dx \ and \ P \int_{-1}^{+\infty} \frac{V(x)}{2} f(x)dx \ means \ the \ Cauchy \ principal \ value \ of \ the \ integral \ at \ ec \ .$$

where $P \int_{-\infty}^{+\infty} \frac{V(x)}{x + \epsilon c} dx$ and $P \int_{-\infty}^{+\infty} \frac{V(x)}{x^2 - c^2}$.

Proof. Let $f \in \mathcal{P}$, we have

$$\langle (x+c)^{-1}(x-c)^{-1}w, f \rangle = \langle w, (\theta_{-c}\theta_c)f \rangle,$$

and by the formula (5), we obtain

$$\langle (x+c)^{-1}(x-c)^{-1}w, f \rangle = \frac{1}{2c} \langle w, \theta_c f - \theta_{-c} f \rangle$$

.

Taking into account (83), we get

$$\langle (x+c)^{-1}(x-c)^{-1}w, f \rangle =$$

$$\frac{1}{2c} \int_{-1}^{+1} \frac{\sqrt{1-x^2}}{x^2-a^2} \left\{ \frac{f(x)-f(c)}{x-c} - \frac{f(x)-f(-c)}{x+c} \right\} dx.$$
(86)

The relation (86) implies (84) and (85). \Box

Proposition 5.4. Let $f \in \mathcal{P}$, we have (a) If $c \in \mathbb{C}-]-1, +1[$, $c^2 \neq a^2$, the form u is represented by

$$\langle u, f \rangle = \frac{\lambda b}{a^2 - c^2} \left(f(-a) + f(a) \right)$$

+ $\left\{ \frac{1}{2} - \frac{\lambda b}{a^2 - c^2} + \frac{\lambda \rho}{2c} \left(\int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{(x^2 - a^2)(x + c)} dx \right) \right\} f(-c)$
+ $\left\{ \frac{1}{2} - \frac{\lambda b}{a^2 - c^2} - \frac{\lambda \rho}{2c} \left(\int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{(x^2 - a^2)(x - c)} dx \right) \right\} f(c)$
+ $\lambda \rho \int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{(x^2 - a^2)(x^2 - c)} f(x) dx.$ (87)

(*b*) When $c \in]-1, +1[$, one has

$$\langle u, f \rangle = \frac{\lambda b}{a^2 - c^2} \left(f(-a) + f(a) \right)$$

+ $\left\{ \frac{1}{2} - \frac{\lambda b}{a^2 - c^2} + \frac{\lambda \rho}{2c} \left(P \int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{(x^2 - a^2)(x + c)} dx \right) \right\} f(-c)$
+ $\left\{ \frac{1}{2} - \frac{\lambda b}{a^2 - c^2} - \frac{\lambda \rho}{2c} \left(P \int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{(x^2 - a^2)(x - c)} dx \right) \right\} f(c)$
+ $\lambda \rho P \int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{(x^2 - a^2)(x^2 - c)} f(x) dx.$ (88)

(c) In the case when $a^2 = c^2$, the form u possesses the following integral representation

$$\langle u, f \rangle = \left\{ \frac{1}{2} + \frac{\lambda \rho}{2a} \int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{(x^2 - a^2)(x + a)} dx \right\} f(-a) + \left\{ \frac{1}{2} - \frac{\lambda \rho}{2a} \left(P \int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{(x^2 - a^2)(x + a)} dx \right) \right\} f(a) + \frac{\lambda b}{2a} \left(f'(a) - f'(-a) \right) + \lambda \rho \int_{-1}^{+1} \frac{\sqrt{1 - x^2}}{(x^2 - a^2)^2} f(x) dx.$$
 (89)

Proof. Based on (77) and (83), we may write

$$v = b(\delta_{-a} + \delta_a) + \rho w, \tag{90}$$

where w is the form defined by (83).

We know that [1]

$$u = \frac{1}{2}(\delta_{-c} + \delta_c) + \lambda(x+c)^{-1}(x-c)^{-1}v.$$
(91)

Taking into account (90), we get

$$u = \frac{1}{2}(\delta_{-c} + \delta_c) + \lambda b(x+c)^{-1}(x-c)^{-1}(\delta_{-a} + \delta_a) + \lambda \rho(x+c)^{-1}(x-c)^{-1}w,$$

and by Lemma 5.2, we obtain the following formulas

$$u = \frac{\lambda b}{a^2 - c^2} (\delta_{-a} + \delta_a) + (\frac{1}{2} - \frac{\lambda b}{a^2 - c^2}) (\delta_{-c} + \delta_c) + \lambda \rho (x + c)^{-1} (x - c)^{-1} w, \ c^2 \neq a^2,$$
(92)

and

$$u = \frac{1}{2} \left(\delta_{-a} + \delta_{a} \right) + \frac{\lambda b}{2a} \left(\delta_{-a}' - \delta_{a}' \right) + \lambda \rho (x+a)^{-1} (x-a)^{-1} w.$$
(93)

(a) In this case, by (92), we have

$$\langle u, f \rangle = \frac{\lambda b}{a^2 - c^2} \Big(f(-a) + f(a) \Big) + \Big(\frac{1}{2} - \frac{\lambda b}{a^2 - c^2} \Big) \Big(f(-c) + f(c) \Big)$$

$$+ \lambda \rho \langle (x+c)^{-1} (x-c)^{-1} w, f \rangle$$
 (94)

By virtue of (84), we obtain (87).

(b) When $c \in]-1, +1[$. The relation (88) is a consequence from (94) and (85). (c) When $c^2 = a^2$, by (93), we obtain

$$\langle u, f \rangle = \frac{1}{2} \Big(f(-a) + f(a) \Big) + \frac{\lambda b}{2a} \Big(-f'(-a) + f'(a) \Big) + \lambda \rho \langle (x+a)^{-1} (x-a)^{-1} w, f \rangle.$$

Using (84) since $a \in \mathbb{C}-] - 1$, +1[, we can deduce (89). \Box

References

- B. Ben hadj ali, M. Mejri, Algebraic equation and symmetric second degree forms of class two, Integral Transforms and Special Function 28 (9) (2017) 682-701.
- [2] T. S. Chihara, An introduction to Orthogonal Polynomials. Gordon and Breach, New York, 1978.
- [3] D. H. Kim, K. H. Kwon, S. B. Park, Delta perturbation of moment functional, Applicable Analysis 74 (2000), 463-477.
- [4] P. Maroni, Sur la suite de polynômes orthogonaux associée à la forme $u = \delta_c + \lambda (x c)^{-1}L$, Periodica Mathematica Hungarica, **21** (1990), no. 3 223-248.
- [5] P. Maroni, Une théorie algébrique des polynômes orthogonaux. Application aux polynômes orthogonaux semi-classiques, in Orthogonal polynomials and their applications. Proc. Erice (1990), IMACS, Ann. Comput. Appl. Math, 1991, vol. 9 95-130.
- [6] P. Maroni, An introduction to second degree forms, Advances in Computational Mathematics (1-2) 1995 59-88.
- [7] P. Maroni, Tchebychev forms and their perturbed forms as second degree forms, Annals of Numerical Mathematics 2 (1995) 123-143.
- [8] P. Maroni, On a regular form defined by a pseudo-function, Numerical Algorithms 11 (1996) 243-254.
- [9] P. Maroni, Semi-classical character and finite-type relations between polynomial sequences, Applied Numerical Mathematics 31 (1999) 295-330.
- [10] P. Maroni, I. Nicolau, On the inverse problem of the product of a form by a polynomial: The cubic case, Applied Numerical Mathematics. 45 (2003) 419-451.
- [11] P. Maroni, I. Nicolau, On the inverse problem of the product of a form by a monomial: the case n = 4. Part I, Integral Transforms and Special Functions 21 (1) (2010) 35-56.
- [12] P. Maroni, M. Mejri, Some perturbed sequences of order one of the Chebyshev polynomials of second kind, Integral Transforms and Special Functions 25 (1) (2014) 44-60.
- [13] G. Sansigre, G. Valent, A large family of semi-classical polynomials: the perturbed Tchebyshev, Journal of Computational and Applied Mathematics 57 (1995) 271-281.
- [14] S. Sghaier, A family of symmetric second degree semiclassical forms of class s = 2, Arabian Journal of Mathematics 1 (3) (2012) 363-375.
- [15] A. Zhedanov, Rational spectral transformations and orthogonal polynomials, Journal of Computational and Applied Mathematics 85 (1) (1997) 67-86.